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QUESTION 1

A company has two locations and wants to implement a DR solution for their Exchange databases. The following
requirements factor into their SLA: 

-Multi-application support. 

-Continuous replication with zero data loss. 

-Minimal replication load on application host. 

-Support a distance of 60 km. 

Which DR solution meets the SLA requirements? 

A. MirrorView/A 

B. DAG 

C. Sync-API 

D. RecoverPoint/S 

Correct Answer: D 

 

QUESTION 2

Click on the calculator icon in the upper left-hand corner. 

A SQL database requires 1,000 I/O per second with 85% reads and 15% writes. If RAID 1/0 is used, what is the total
number of spindles required to generate the required I/O per second? 

A. Ten 10K drives 

B. Four 15K drives 

C. One Flash drive 

D. Fourteen 7.2K drives 

Correct Answer: A 

 

QUESTION 3

A Storage Administrator with a VNX Unified solution is using the CLI to monitor daily storage performance. They must
type long commands to identify and examine their particular desired statistical results. You have been asked to create
statistical groups to accelerate and ease the demanding monitoring tasks. 

What should you use to accomplish this job? 

A. nas_stats 
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B. server_stats 

C. naviseccli 

D. iostat 

Correct Answer: A 

 

QUESTION 4

An EMC VNX is enabled for FAST Cache using four 200 GB Flash drives. Ten additional Flash drives are available for
SQL databases. Which SQL database object would be best suited to utilize these drives? 

A. Database components such as tempDB 

B. Heavily used log volumes 

C. Databases on LUNs with read caching enabled 

D. Databases with large, sequential I/O 

Correct Answer: A 

 

QUESTION 5

A customer is using MirrorView/S to replicate production data from Site A to Site C. The production Exchange server is
located at Site A and has access to LUNs 101 and 102. LUNs 101 and 102 are placed in a consistency group. Site A
experiences a disaster and Site C is now production. What configuration change is needed to allow the Exchange
server access to Site C\\'s LUNs 101 and 102? 

A. Promote the Secondary Image. 

B. Connect the Exchange server to the appropriate storage group. 

C. Add the Secondary Image to the appropriate storage group. 

D. Fracture the mirror. 

Correct Answer: A 
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